oowp

N

6 off M8x20 cap head 10.9 set screws.
6 off M8x20 ¢/sunk 10.9 set screw
6 off M8 nuts

6 off M8 washers

Fitting a FASP Master/Movano swivel.

Y:wl

oA

Part numbers ending in sx are passenger. Dx are driver.
The orange handle should be facing the front of the vehicle
and should pull upwards in order to rotate the swivel.

Disconnect vehicle battery if there are electrical connections underneath/to the seat. Ensure battery is discon-
nected before disconnecting any electrical connections. Not doing so could cause dashboard errors to light up.
Remove seat and seat runners.

Rotate swivel 45 degrees to reveal base mounting points. (this can be difficult as the swivels are built to rotate
with the weight of the seat). Fix the swivel down to the seat base using the relevant fixings.

Carefully place the seat with the seat runners attached on top of the swivel. Fix the seat to the swivel with the
relevant fixings. Reconnect any electrical connections by passing the connections through the central hole in the
swivel.

Rotate the seat to the forward facing position to ensure the swivel latch engages. Check the seat runners move
freely. Rotate the swivel to face the rear, you may need to move the seat forwards and backwards to clear
handbrakes or vehicle b-pillars. Check that the electrical connections do not snag or catch. Once you are happy
reconnect the vehicle battery.

Note: for drivers side swivels in 99% of vehicles it is necessary to lower the handbrake in order to swivel the seat. En-
sure the vehicle is in gear before doing so and re-engage the handbrake after rotating the seat.



